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1. Given an equation
Pt = XC_”N (—d2 ) = StN (—-d1 ) .
where
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a. (15%) It can be easily derived that 851’ 1) = e ?.

Please show 8N(d2) =

1
od, N27

b. (15%) Please calculate % .

t

c. (20%) Please calculate _%11_* ,

2. Consider the problem

O 2wl oo 2 2 2. .2
minimize o, =W 0, +W,0, +W;0; +2WW,0, +2W W0, + 2W, W30,

W) Wy Wy

subject to
w+w, +w, =1

WR +w,R +w,R, = E
a. (10%) Please write the Lagrangian.

b. (10%) Please show the first order conditions.
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3. (10%) If w,+w, =1, please obtain the w, and w, to minimize the following equation.
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ol =woy + Wy, +2WW,0,

1-r _
E\\I\Hu ify=1
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4. (10%) U(W)=

EAE\Y if y=1

Please calculate R(W)= l% .
u(w)
vd
5. (10%) EE\TEA&WEW
y \1-7
If r+1, a>0, mw«ll&\ﬂrhuv@vm:a B=1 if y — — , please calculate IH\VW‘MWW.
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